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atlxl  + . . . + a,,x, = ‘b,

a2,x,  + . . . + aznx, = bn

l
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XI = dj  - Cj.  k+lXk+l - Cj,  k+zXk+~ - ... - CjnX" (j = 1, 2, . . . . k)

+dQeil& 5.1.1 99~1~lWQUVQ9~ZYU~~nl~

x,+3x,+x3  =  2

x,-2x2--2x, =  3

2x, +x2-x3 = 6

=A 0
ami

l.iU;Q n = m =  3

- 2R,+R,  0 -5 -3 1- 3
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* b-9

-6x,+2x,  =  6

i

x,+x2  =  2

(2) x,-x2  =  0

2x,+2x,  =  6

3x, +x2  = 1

6x,+2x,  =  6

2x,1 = 4
(91)

3x, = 9
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&dld  5 . 3 . 2  4JHl~1~0UYQJS=UYIU”lf

x1+x2+xj =  4

x,+2x,+2x,  = 2

-xX1-x*+xj  =  ‘ 2
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m”asfhd  5 . 3 . 4  P9Hi~i~0~V09TrYY~Unl~

(1) . 2x,+x, = 1

(2) -4x,+6x2  =  6

(3) -2x,+1x,  =  7
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AX = B

X = A-‘B

1



x,+2x2-xX)  =  6

(n) 2x, -x,+3x, = - 13

\ 3x,-2x,+3x,  =  - 1 6

i

2x ,+x , -x ,  =  -4

(8) x,-x,+3x, = 3

x,+2x,-4x,  =  1

x,-x*-x3--  =  5

(V
x,+2x,+3x,+x,  =  - 2

2x,+2x,+3x,  = 3

3x,+x2+2xq =  1

x , -x , -2 = 0

w x,+3x,-l  =  0

x,-2x,-7 = 0

i

6x,+3x,+2x,  =  1

(9) 3x,-4x,  =  4

5x,-x, = 14

/ x,-x2  = 1

(a) 2x ,+x ,  =  y

4x,-2x2 =  9
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/
x,+2x,+x, = 2

’ bfo  i 2x,-2x,+x,  = 6
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1 1

0  - 1

0 0

1 0

0 - 1

0 0
r

1. 0

0 1

0 0

xEIlJRaJ&pwQ

“  *

Fll61QlJLQWl:

l]  3

-1;  1

iI
2/  2

1;  3

-21-2::
2; 21
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- 2  I-2
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-1;  1
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(Particular solution)”
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1 0 0  3i21

I 0 1 0 zi 21

5

LLI12
-iTyll, - 3

0 -2;0 1 2



c x,+3x, = 6

=  8-x,-3x,  =  8-(6-3x,)-3x,  = 2

X2 = 6-3x,

( Xl = 2+(0)x,





3x,-x2+x, =  4 ”

= 1w

i

x1-x2 = 0 x,+2x,-x9+x,

2x,+x3 = 4 x , - x , + x , - x , = 2

4x,-2x2+x, = 4

x,-2x,+x,-x, =  3

(8) 2x,-3x, =  3

x,-X*-Xjf& =  0

I x:+x, =  2

(4 x2+x, =  6

x , + x ,  =  0

-4x,+2x2 =  0

x,-3x2+2xj =  0

(11) --x,-2.r,+2xj =  0

-2x,+x, =  0





system of linear equations

homogeneous system

nonhomogeneous system

inconsistent system

consistent system

infinite number of solutions

original system

trivial solution

coefficient matrix

echelon method

triangular submatrix

equivalent system

Gaussian elimination

Gauss-Jordan reduction method

arbitrary parameter

complete solution

1general solution ’

particular solution
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